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 ح+( ��رc (m) ، �$-ا ا�/�ض �-ی� آ�1	 � (CH3COOH)��a ا)ی@���ی` (S)��_� م��1^   X7م 

100 mL�   ."�ــــــــ م6 ا���ء ا��
 e
��pH �1ل�ا�� (S) ا�ـ 	ا�"�� pH- 	25 م�� �74 ا��رج°C+7  ــــــــ �pH = 3,4.   
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	 pKa ا����1ل ��^�	 pH أآ�� �f4	 -/ أ-3G�7@ا� 	1Jم& �$� ا������ 
HA/A) و ا��
−
).   

�	 -/ب��Bا� 	�fم6 ا�� ��f"إ�  	�f6 ا���ص� إ�3 ا��Pی� X6 أ�
� :pKa = 2pH + log[HA]f.   

�ــــــــــــــــــ	 ا�ـ -� �Bأح pKa.   

	 S	 ا�/��#	 ـــــــــا�5ه
 م�  -/جG�7@1�(HA/A

−
     . ح��	 ا���ازن ؟� 74(


	 Qri )� Qrfأح�B  -/دG�
�
Pا� 	ت"�ر ا�+�1 	6 ج$
  . آ�B ا���4�S �74 ا���ازن ، و �
II-  
"	 ـــــ مX7 ��ا�Va = 10 mL ���ی� ح+�� (S) ��1��1ل C0 �$�ف ا��iآ� م6 �
�	 ا���آ
& ا����


� ا��5دی�Bروآ�
$� 
Na)م م��1ل أ���
+

(aq) ; OH
−

(aq)) 
Cb = 4.10ت�آ
&c ا����
−3

 mol/L  

��ث ا��k �P �74 إ�R 	 ح+(  VbE = 25 mL 
���m�1ل ا�م6 ا�� .  

  . أذآ� ا�#�وت�آ�ل ا��+�ی#
 �$-c ا����ی�ة -/ أ-1
   .� ا����ی�ةــــــــــــــأآ�� م��د�	 ت4�S -/ب

�	 ا���آ
& ا����
  -/ج� �BأحC0 �1ل�) ��1S( ،  ��
�	 ا���"�ة ����  .��ر�$� مN ا�

ء ج�ول ت��م ت�4�S ا����ی�ة-/أ -2Qأ�   .  

��م ا���4�S م6 أج� إ�R 	  -/ب�� 	
G�$7ا� 	#B7ا� E�712,5إ�� mL 
���m�1ل ا�م6 ا�� .  
�	 -/ج��Bا� 	 �R(م6 أج� ا Eا��&ی 
  	
G�
�
Pاع ا���mا C1�\م &
  . أح�B ت�اآ
  

mol/g1  = )H(M,   mol   /g12  = )C(M,  mol  /g16  = )O(M  
  

 
  

  �,اري م�اد: ��ذـــــــــــــــإ	�اد ا3س


